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All questions are compulsory. Internal options are given in Question
Nos. 6 to 20.

Question Nos. 1 to 5 are objective type questions.

Question Nos. 1 - Choose the correct options - 06 Marks

Question Nos. 2 - Fill in the blanks - 06 Marks

Question Nos. 3 - True/False - 06 Marks

Question Nos. 4 - Match the column - 05 Marks

Question Nos. 5 - Answer in one sentence - 05. Marks

Question Nos. 6 to 12 total 07 questions carry 02 marks each. Answer
word limit is 30 words.

Question Nos. 13 to 16 total 04 questions carry 03 marks cach. Answer
word limit is 75 words.

Question Nos. 17 to 20 total 04 questions carry 04 marks each. Answer
word limit is 130 words.
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(a) INSERT (b) SELECT
(¢) UPDATE (dy DELETE
(i) wier ¥ @09 ¥ -
(a) 1 smap 9y (b) 2 smard oY
(¢) 3 smart W (d) suda ¥ @ @y T
(iii) Sra war A Al F ot @t ReM s & FgFiheE wy |
q2 B B
(a) 9 (b) =X
(¢} =T (d) ufkw
(iv) ol Rrew @ Yoah @ THEM GAN @ TN A FT b 9aE B
G dR o @ S )
(a) WEET ST (b) WEET
(c) fTaww wEAfEn _(d) fstwea s@uy
(v) UEAE FEY o N Ade fRu W wed @ -
(a) TaT ® (b) T &G W
(c) +ead | (d) e o
(vi) = MpAIE WA B HHIA & -
(a) foae (b) @
(c) %M (d) Tugw M
Choose and write the correct options :
(i) statement is used to query retricve data from a table in
the database.
(a) INSERT (b) SELECT
(c) UPDATE (d) DELLTE
(ii) Series in Pandas is
(a) 1 dimensional array (b) 2 dimensional array
(¢) 3 dimensional array (d) None of the above
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(iii) Under what type of topology all stations are connected to the same
communication path?
(a) Bus (b) Star
(¢} Mesh (d) Circle

(iv) An attempt to harm. damage or cause threat to a system or network
is broadly termed as

(a) Cyber crime (b) Cyber attack
(c) System hijacking (d) Digital crime

(v) Personal computers can be connected to each other.
(a) in a server (b) in super computer
(¢) in the network (d) in the node

(vi) Function of Data Definition Language is
(a) Create (b) Alter
(¢) Drop (d) All of the above

2 faa wAl @ ofd aifg 6

(i) & feyme see A & GUE BT I

(ii) aE G WH AT AR B IYART B ST AT FFHHIH
F Uihdd Yoeed ® HelHa &tar Bl

(ili) VOIP =1 famfa = (4

(iv) Tg &, 9T gor A W e wEE a1 I9EEgE & S99
HE AGASL AT T F THHIA 9T A T

(v) qfswmel Tataew aar e fPT U 99 O @ Heee
T, o s Rimw @9 AW da @ #)

(vi) " &1 SwE Y e e o offeX % TRE Bl Tad
zl

Fill in the blanks :
(i) A relational database consists of a collection of

) A refers to the graphical representation of data and
_ information using charts or diagrams or maps.
(1) VOIP stands for

(iv) An is where the user has deliberately shared information

about himself either by using social media sites or by using
websites.

(v) is a collection of publicly accessible, interlinked webpages
that share a single domain name.
(vi)

. is 'wrongful copying from the text of another author
without mentioning the source.
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(i) FOSquumqﬁameﬂ’wm@ﬁm%l |

row 3 0 Reme § A9 02 A8 B R

(iii) uRrag a@m@ @ legend () WUS WS

(iv) T Ao R @ e TERPRRE § TEAEE 9 A E

(V) ﬁ~§@ﬁaﬁsﬁaﬁﬁﬁg%ﬁ@u®mﬂ%ﬂﬁiamﬁfﬁam
gadl 2|

(vi) uF Raa ¥ Red 2 929 8 wwd ¥

Write True/False for the following sentences :

(i) FEthical hacker is also called as white hat hacker.

(i) FOSS stands for Free and Option Source Software.

(iii) The legend () method of axes class does not add a legend to the
plot figure.

(iv) A database management system receives the instructions from a
database administratot.

(v) In full duplex mode both the connected devices can send and
receive data simultaneously.

(vi) A switch can have 2 ports only.

4 gé wifsal Iy - 5
A B
(i) g (i) o e A -
(ii) Telor Tertan (i) ¥ A&
(iil) ™M ®H (iil) @gET A
(iv) Tem sd- (iv) Fooe 29— WA
(v) CSV wrw (v) wrdrore @l &
(vi) mESr 9 TEW
Match the column
A B
(i) Trolling (i) World Wide Web
(ii)  Relational Algebra (i) Web browser
(iii) Google Chrome (iii) Cyber bullying
(iv) Tim Berners-Lee (iv) Simple text file
(v) CSV file (v) Procedural Query [Language
(vi) Guido van Rassom
N
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(ii) m%ﬂﬁu%‘%&;&gqﬁa{nq‘fﬁzﬁﬁ%wﬁw“ﬂ@ﬁ
fearg 4 sAwe & ¥

(1) haem fadee fdo o sfas @ ARRem A Red w5 3
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Give answer in one word / sentence :

(1) Which is the most popular open-source Python library used for

doing data analysis? https://www.mpboardonline.com

(11) Each device is connected to every other device on the network

through a dedicated point-to-point link.

(111) Function returns the maximum value of the selected column.

(1v) An unauthorized entry into a network or a computer to steal or
manipulate information data or files.

(v) It refers to the process of communicating interacting or exchanging
message over the internet.

6 @ SQL Wpnfi % |9 Har &7
Does SQL support programming?
@ / OR

b~

Tl AR b O§ 7
What is Data Consistency?

7w fGwew w3
| What is file system?

LY
)

gy / OR
P hage @ Rawdm o ST Givd fafa

Write Trim ( ) function with syntax and example.
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i @Al & fawg ¥ ffE)
Write about Pandas Library.
s / OR

qque F dfw @ @ faseant faRa

Write two features of scries in Python.

too

ard @iz & E7 wRra § gumEg)
/  what is Line plot? Write in bricf.

@ / OR
) fagoegated & & A W o)

write any two benefits of Data Visualization.

10 :-@wd dgEEe & fawg A fafeg) 2

Write about e-commerce website.
Fyar / OR

&1 amret @ fasward fafag)

Write characteristics of Tree topology.

N 3w @ wren & Prfa $ st fafag 2
Write, how to control the problem of e-waste.
g / OR
U Gz B ARAT g ¥ B g9 gad &7

How can you protect yourself from cyber bullying?

12 *@d % ward 4 fee fedm @ fafao) 2
Define script kiddish in types of Hacker.
Auar / OR
e Far ¥

What is Trademark?
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13 dfrq § foauh Fifa:
() 3@ s
(il) ord@Em e
Write short notes :
(i) Equi Join
(ii) Orderby Clause

smm / OR

dftrg § foroft ffld
Write short notes on :
(i) SQL Rename table
(i) SQL Drop table

14 S0 qun W & W AT W e
Define the difference between Series and Dataframe.
s / OR
e Rfgeym 1 i B

Define Anaconda distribution.

15 tfeee e ol AR v oww ¥
What is active hub and passive hub?
yqa / OR
WWW&WW%?W—{—WW%W#WI

What is computer network architecture? Write the advantages of peer
to peer architecture.

}6 diye AFEfeT oe @ oy @O wWEd ¥ 7
What do you understand by Social Engineering Attack?
duq / OR
TR & ey a@ g ¥ fafaw)
Write the introduction of internet in your own words.
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Write the following functions with syntax :
(i) NOW()
(1) DATEL()
(111) MONTH( )
(iv) YEAR()
Fya / OR
Frafofen oz dwemi & @ren RRew aftg B
Explain the following aggregate functions with syntax :
(1)  AVG()
(11) Count( )
(111) MIN()
(iv) SUMC()

I WY Head( ) aur tail() das & wwgmu)
Explain Head( ) and tail( ) method with example.
yya / OR

CSV 31 & ama &1 gvwa ¥ 7 fammges fafew)
What do you mean by CSV data? Write in detail.

for qar 9 AdEeh ¥ 99 ot wWe Al
Write the difference between Ring and Bus topology.
yqa / OR

152y au fiag % €9 A W B

Write the difference between Router and Switch.

St ¥ wudn % Refdretiee ghe 7@ E

. C o of lee '
What are the physiological effects of usage of technology

sqat / OR
il T T, 2000 & et il
Jation ‘Technology Act 2000 in detail.

Write salient features of Inforn
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